

Mr Matthew Shaw Landsbury Group Ltd 47 White Hart Lane London SW13 0PP

Project Reference: 21/11543/RES 09-Mar-2022

Quote Number: H 1794902 RA

Dear Sir / Madam,

Re: 14 Bloemfontein Road

Thank you for your enquiry for the above project. Please note the attached quotation is valid for 30 days.

Please refer to the Technical Submission for quotation H 1794902 RA attached to this email communication. If the Technical Submission has not been provided with this email, please contact Nuaire for a copy to be provided.

In selecting Nuaire products you can be certain that the quality is of the highest standard. All of Nuaire's products have been developed to be energy efficient and compliant with the latest legislation.

We offer an excellent after sales service and a technical help line with a team of experts available to help and advise you. We are renowned for our outstanding customer service and on time delivery performance to help you to manage your project successfully.

To secure this price and the best possible lead times please place your order as soon as possible. Simply call me on my direct line referencing the quotation number above or send your order by email, post or facsimile. In the meantime if I can be of further help please do not hesitate to contact me.

Following recent conversations with your area sales manager, this quotation is based on our new pricing structure. Please note the standard discount is no longer shown but is applied to the line price of each item.

Nuaire looks forward to receiving your purchase order in due course, which should contain site delivery address, contact name and number, any information relating to site restrictions and or specific instructions to ensure that we meet your delivery requirements.

Please ensure that quoted packing and transport charges, as identified within this quotation, are included in your purchase order instruction.

We look forward to being your preferred supplier on this and future projects.

Yours faithfully

Georgia Looker

T 029 2085 8529 F 029 2085 8555 E Georgia.Looker@nuaire.co.uk Contact



PROJECT SUMMARY

Please refer to quote number H 1794902 RA in all correspondence

Clients Name & Address Quotation Number H 1794902 RA

> **Project Reference** 21/11543/RES Mr Matthew Shaw

14 Bloemfontein Road Landsbury Group Ltd Shepherd'S Bush 47 White Hart Lane

London **Quotation Date** 09-Mar-2022 **SW13 0PP Account Number** 5628941-00

Nuaire Contact Georgia Looker Tel: 029 2085 8529

Mr Matthew Shaw Tel: 07810561548 **Your Sales Engineer** Stuart Paterson

Tel: 07767 298 187

Item	Code	Description	Duty m³/s	Duty Pa	SFP W/(l/s)	Qty	Price each	Total
Location 1 - Project Notes								
	MVHR locations have mounting is available only and needs to be by a fire speailist to e no wraps, metal air b note: (a) Our quotatic (b) Our quotation is for (c) Whilst every care quotation, final respoof the products offered their intended purpos (d) Please note our q indicative duct layout the drawings provide performance to meet for the system design (e) If any further design sheet with all change completed. (f) Please refer roof obuilding has been as ducting used for atmosphere.	has been taken to ensure the accuracy of this nsibility lies with the customer to establish the suitability id, including quantities, sizes, and their suitability for e. uotation is based on supply only, we have provided drawings and/or provided ducting take offs based on d. Whilst we can guarantee the selected fan the required air flows we do not take any responsibility						
Location 2 - MVHR Flat 1								
1	MRXBOXAB- ECO2B-OH	Wall mounted MVHR unit with 100% Summer Bypass and integral humidistat. OPPOSITE HAND CONFIGURATION. Not compatible with MRXBOX-VSC				1	£ 714.11	£ 714.11
2	IAQBOX-S-PM2.5	SINGLE CARBON FILTER FOR MRXBOX95 RANGE FITTED WITH PM2.5 (F7) FILTER				1	£ 558.11	£ 558.11
3	MVHR-DRAIN	MRXBOX CONDENSATE DRAIN				1	£ 33.97	£ 33.97
4	SRDI125	SEMI RIGID DUCT 125mm DIA X 3mtr ACOUSTIC				1	£ 82.32	£ 82.32
5	NTD-204-PL	INSULATED 204X60mm PLENUM				2	£ 5.70	£ 11.40
6	NTD-125-INS	125 Dia TPC Insert				2	£ 0.83	£ 1.66
7	NTD-204-INS	204 x 60 TPC Insert				27	£ 0.86	£ 23.22
8	PVC541WH	204X60 ELBOW BEND WITH ROTATING OFFSET SPIGOT TO 125MM PPV P/N: 541				7	£ 3.31	£ 23.17
9	PVC905WH-KIT	WHITE DOUBLE AIRBRICK 220 X 90MM CONNECTING TO 204 X 60MM				2	£ 6.98	£ 13.96
10	PVC940WH	220X90 Elbow Bend with 125mm Fixed Spigot PPV P/N: 940				1	£ 10.41	£ 10.41
11	NTD-204-90H	INSULATED 204X60mm 90 DEG HORIZONTAL BEND				2	£ 5.83	£ 11.66
12	PVC550WH	204X60 HORIZONTAL 90 BEND WHITE				3	£ 4.11	£ 12.33

continued ...

OHS 665207



PROJECT SUMMARY

Please refer to quote number H 1794902 RA in all correspondence

Quotation Number H 1794902 RA **Account Number** 5628941-00

. cont					SFP			
Item	Code	Description	Duty m ³ /s	Duty Pa	W/(I/s)	Qty	Price each	Total
_ocat	ion 2 - MVHR Flat	:1						
13	PVC575WH	204X60 VERTICAL 45DEG BEND WHITE PPV P/N: 575				10	£ 2.70	£ 27.00
14	PVC582WH	204X60 TEE PIECE PPV P/N: 582				4	£ 5.81	£ 23.24
15	Q-AIRE-EV125F	Q-Aire-EV125F EXTRACT VALVE c/w FILTER				3	£ 16.20	£ 48.6
16	Q-AIRE-V125	Q-Aire-V125 - SUPPLY & EXTRACT VALVE				3	£ 13.19	£ 39.5
17	D3-2000	204X60 2MTR LENGTH OF FLAT CHANNEL				16	£ 9.02	£ 144.3
18	PVC520WH	204X60 FLAT CHANNEL CONNECTOR WHITE PPV P/N: 520				8	£ 1.97	£ 15.7
19	NTD-204-1M	INSULATED 204X60mm 1M DUCT				21	£ 10.18	£ 213.7
20	D4-2000	220x90 2m Duct length				1	£ 11.88	£ 11.8
21	GALVSEAL	GALVANISED METAL DUCT SEALANT - GREY 295ML. EVERBUILD P/N - GALVAM				1	£ 5.66	£ 5.6
22	FLD125	FLEX DUCTING 125mm DIA X 5M				3	£ 6.53	£ 19.5
23	PVC50TP45	ALUMINIUM DUCT SEALING TAPE - 45m Roll				2	£ 5.88	£ 11.7
24	PVCBAND	WHITE PVC COATED GALVANISED BANDING 12mm X 10m ROLL				2	£ 3.47	£ 6.94
25	PVCDSEAL	DUCT SEALANT 300ml UNVIERSAL ACRYLIC WHITE - EVERBUILD P/N - 175WE				2	£ 6.88	£ 13.7
26	PVC957WH	220X90 INLINE ADAPTOR TO SUIT 204X60 FLAT DUCTING PPV P/N: 957				1	£ 1.90	£ 1.9
ocat	ion 3 - MVHR Flat	: 2						
27	MRXBOXAB-ECO2B	Wall mounted MVHR unit with 100% Bypass and integral humidistat. Not compatible with MRXBOX-VSC				1	£ 714.17	£ 714.1
28	IAQBOX-S-PM2.5	SINGLE CARBON FILTER FOR MRXBOX95 RANGE FITTED WITH PM2.5 (F7) FILTER				1	£ 558.11	£ 558.1
29	MVHR-DRAIN	MRXBOX CONDENSATE DRAIN				1	£ 33.97	£ 33.9
30	SRDI125	SEMI RIGID DUCT 125mm DIA X 3mtr ACOUSTIC				1	£ 82.32	£ 82.3
31	NTD-204-PL	INSULATED 204X60mm PLENUM				2	£ 5.70	£ 11.4
32	NTD-125-INS	125 Dia TPC Insert				2	£ 0.83	£ 1.6
33	NTD-204-INS	204 x 60 TPC Insert				21	£ 0.86	£ 18.0
34	PVC541WH	204X60 ELBOW BEND WITH ROTATING OFFSET SPIGOT TO 125MM PPV P/N: 541				7	£ 3.31	£ 23.1
35	PVC905WH-KIT	WHITE DOUBLE AIRBRICK 220 X 90MM CONNECTING TO 204 X 60MM				2	£ 6.98	£ 13.9
36	PVC940WH	220X90 Elbow Bend with 125mm Fixed Spigot PPV P/N: 940				1	£ 10.41	£ 10.4
37	NTD-204-90H	INSULATED 204X60mm 90 DEG HORIZONTAL BEND				2	£ 5.83	£ 11.6
38	PVC550WH	204X60 HORIZONTAL 90 BEND WHITE				6	£ 4.11	£ 24.6
39	PVC555WH	204X60 HORIZONTAL 45 BEND WHITE PPV P/N: 555				1	£ 3.69	£ 3.6
40	PVC575WH	204X60 VERTICAL 45DEG BEND WHITE PPV P/N: 575				10	£ 2.70	£ 27.0
41	PVC582WH	204X60 TEE PIECE PPV P/N: 582				4	£ 5.81	£ 23.2
42	Q-AIRE-EV125F	Q-Aire-EV125F EXTRACT VALVE c/w FILTER				3	£ 16.20	£ 48.6
43	Q-AIRE-V125	Q-Aire-V125 - SUPPLY & EXTRACT VALVE				3	£ 13.19	£ 39.5
44	D3-2000	204X60 2MTR LENGTH OF FLAT CHANNEL				15	£ 9.02	£ 135.3
45	PVC520WH	204X60 FLAT CHANNEL CONNECTOR WHITE PPV P/N: 520				7	£ 1.97	£ 13.7
46	NTD-204-1M	INSULATED 204X60mm 1M DUCT				15	£ 10.18	£ 152.7
47	D4-2000	220x90 2m Duct length				1	£ 11.88	£ 11.8
48	GALVSEAL	GALVANISED METAL DUCT SEALANT - GREY 295ML. EVERBUILD P/N - GALVAM				1	£ 5.66	£ 5.6

continued ...





PROJECT SUMMARY

Please refer to quote number H 1794902 RA in all correspondence

Quotation Number		H 1794902 RA Account Nu		umber 5628941-00				
. cont	inued			1				
Item	Code	Description	Duty m³/s	Duty Pa	SFP W/(l/s)	Qty	Price each	Total
ocat	ion 3 - MVHR Flat	2						
49	FLD125	FLEX DUCTING 125mm DIA X 5M				3	£ 6.53	£ 19.5
50	PVC50TP45	ALUMINIUM DUCT SEALING TAPE - 45m Roll				2	£ 5.88	£ 11.7
51	PVCBAND	WHITE PVC COATED GALVANISED BANDING 12mm X 10n ROLL	ו			2	£ 3.47	£ 6.9
52	PVCDSEAL	DUCT SEALANT 300ml UNVIERSAL ACRYLIC WHITE - EVERBUILD P/N - 175WE				2	£ 6.88	£ 13.7
53	PVC957WH	220X90 INLINE ADAPTOR TO SUIT 204X60 FLAT DUCTING PPV P/N: 957				1	£ 1.90	£ 1.9
ocat	ion 4 - MVHR Flat	3						
54	MRXBOXAB- ECO2B-OH	Wall mounted MVHR unit with 100% Summer Bypass and integral humidistat. OPPOSITE HAND CONFIGURATION. No compatible with MRXBOX-VSC	t			1	£ 714.11	£ 714.1
55	IAQBOX-S-PM2.5	SINGLE CARBON FILTER FOR MRXBOX95 RANGE FITTED WITH PM2.5 (F7) FILTER				1	£ 558.11	£ 558.1
56	MVHR-DRAIN	MRXBOX CONDENSATE DRAIN				1	£ 33.97	£ 33.9
57	SRDI125	SEMI RIGID DUCT 125mm DIA X 3mtr ACOUSTIC				1	£ 82.32	£ 82.3
58	NTD-204-PL	INSULATED 204X60mm PLENUM				2	£ 5.70	£ 11.4
59	NTD-125-INS	125 Dia TPC Insert				2	£ 0.83	£ 1.0
60	NTD-204-INS	204 x 60 TPC Insert				24	£ 0.86	£ 20.0
61	PVC541WH	204X60 ELBOW BEND WITH ROTATING OFFSET SPIGOT TO 125MM PPV P/N: 541				5	£ 3.31	£ 16.
62	PVC905WH-KIT	WHITE DOUBLE AIRBRICK 220 X 90MM CONNECTING TO 204 X 60MM				2	£ 6.98	£ 13.
63	PVC940WH	220X90 Elbow Bend with 125mm Fixed Spigot PPV P/N: 940				1	£ 10.41	£ 10.
64	NTD-204-90H	INSULATED 204X60mm 90 DEG HORIZONTAL BEND				3	£ 5.83	£ 17.
65	PVC550WH	204X60 HORIZONTAL 90 BEND WHITE				1	£ 4.11	£ 4.
66	PVC555WH	204X60 HORIZONTAL 45 BEND WHITE PPV P/N: 555				1	£ 3.69	£ 3.0
67	PVC582WH	204X60 TEE PIECE PPV P/N: 582				2	£ 5.81	£ 11.0
68	Q-AIRE-EV125F	Q-Aire-EV125F EXTRACT VALVE c/w FILTER				2	£ 16.20	£ 32.
69	Q-AIRE-V125	Q-Aire-V125 - SUPPLY & EXTRACT VALVE				2	£ 13.19	£ 26.
70	D3-2000	204X60 2MTR LENGTH OF FLAT CHANNEL				5	£ 9.02	£ 45.
71	PVC520WH	204X60 FLAT CHANNEL CONNECTOR WHITE PPV P/N: 520				1	£ 1.97	£ 1.9
72	NTD-204-1M	INSULATED 204X60mm 1M DUCT				17	£ 10.18	£ 173.0
73	D4-2000	220x90 2m Duct length				1	£ 11.88	£ 11.
74	GALVSEAL	GALVANISED METAL DUCT SEALANT - GREY 295ML. EVERBUILD P/N - GALVAM				1	£ 5.66	£ 5.0
75	FLD125	FLEX DUCTING 125mm DIA X 5M				3	£ 6.53	£ 19.
76	PVC50TP45	ALUMINIUM DUCT SEALING TAPE - 45m Roll				2	£ 5.88	£ 11.
77	PVCBAND	WHITE PVC COATED GALVANISED BANDING 12mm X 10n ROLL	ח			2	£ 3.47	£ 6.9
78	PVCDSEAL	DUCT SEALANT 300ml UNVIERSAL ACRYLIC WHITE - EVERBUILD P/N - 175WE				2	£ 6.88	£ 13.
79	PVC957WH	220X90 INLINE ADAPTOR TO SUIT 204X60 FLAT DUCTING PPV P/N: 957				1	£ 1.90	£ 1.9
	ion 5 - MVHR Flat			1				
80		Wall mounted MVHR unit with 100% Bypass and integral humidistat. Not compatible with MRXBOX-VSC				1	£ 714.17	£ 714.
0.4	IAODOV C DMO E	CINCLE CARRON FILTER FOR MRYROVOE DANCE FITTER	NI.	1	1	. a	0.550.44	0.550.4

continued ...

£ 558.11

£ 33.97



£ 558.11

£ 33.97

1

IAQBOX-S-PM2.5

MVHR-DRAIN

81

82

SINGLE CARBON FILTER FOR MRXBOX95 RANGE FITTED WITH PM2.5 (F7) FILTER

MRXBOX CONDENSATE DRAIN



PROJECT SUMMARY

Please refer to quote number H 1794902 RA in all correspondence

Quotation Number H 1794902 RA **Account Number** 5628941-00

Item	Code	Description	Duty m³/s	Duty Pa	SFP W/(I/s)	Qty	Price each	Total
Locat	ion 5 - MVHR Flat	4						
83	SRDI125	SEMI RIGID DUCT 125mm DIA X 3mtr ACOUSTIC				1	£ 82.32	£ 82.32
84	NTD-125-CONTRAP	Nuaire 125mm diameter Thermal Condensation Trap				1	£ 7.90	£ 7.90
85	PVC541WH	204X60 ELBOW BEND WITH ROTATING OFFSET SPIGOT TO 125MM PPV P/N: 541				5	£ 3.31	£ 16.5
86	PVC940WH	220X90 Elbow Bend with 125mm Fixed Spigot PPV P/N: 940				1	£ 10.41	£ 10.4
87	RPC-5	GALVANISED STEEL ROOF COWL TO SUIT 125 DIA PIPE				2	£ 22.81	£ 45.62
88	NTD-125-90H	INSULATED 125mm DIAMETER 90 DEG BEND				2	£ 5.94	£ 11.8
89	NTD-125-INS	125 Dia TPC Insert				9	£ 0.83	£ 7.47
90	PVC550WH	204X60 HORIZONTAL 90 BEND WHITE				4	£ 4.11	£ 16.4
91	PVC582WH	204X60 TEE PIECE PPV P/N: 582				2	£ 5.81	£ 11.62
92	Q-AIRE-EV125F	Q-Aire-EV125F EXTRACT VALVE c/w FILTER				2	£ 16.20	£ 32.40
93	Q-AIRE-V125	Q-Aire-V125 - SUPPLY & EXTRACT VALVE				2	£ 13.19	£ 26.38
94	RPF3-6	ROOF PIPE FLASHING 3-6 inches (approx. 76-152mm. For use with profiled roofing material, any panel configuration and roof pitch).				2	£ 21.04	£ 42.08
95	RPFK	ROOF PIPE FLASHING FIXING KIT				2	£ 7.65	£ 15.3
96	D3-2000	204X60 2MTR LENGTH OF FLAT CHANNEL				6	£ 9.02	£ 54.1
97	PVC520WH	204X60 FLAT CHANNEL CONNECTOR WHITE PPV P/N: 520				2	£ 1.97	£ 3.9
98	NTD-125-1M	INSULATED 125mm DIAMETER 1M DUCT				4	£ 11.30	£ 45.2
99	D4-2000	220x90 2m Duct length				1	£ 11.88	£ 11.8
100	GALVSEAL	GALVANISED METAL DUCT SEALANT - GREY 295ML. EVERBUILD P/N - GALVAM				1	£ 5.66	£ 5.6
101	NTD-125- CUTTINGAID	125mm THERMAL DUCTING CUTTING AID. COLOUR: BLUE RAL5015				1	£ 3.04	£ 3.0
102	NTD-204- CUTTINGAID	204 x 60 THERMAL DUCTING CUTTING AID. COLOUR: BLUE RAL5015				1	£ 2.59	£ 2.5
103	FLD125	FLEX DUCTING 125mm DIA X 5M				3	£ 6.53	£ 19.5
104	PVC50TP45	ALUMINIUM DUCT SEALING TAPE - 45m Roll				2	£ 5.88	£ 11.7
105	PVCBAND	WHITE PVC COATED GALVANISED BANDING 12mm X 10m ROLL				2	£ 3.47	£ 6.9
106	PVCDSEAL	DUCT SEALANT 300ml UNVIERSAL ACRYLIC WHITE - EVERBUILD P/N - 175WE				2	£ 6.88	£ 13.7
107	PVC957WH	220X90 INLINE ADAPTOR TO SUIT 204X60 FLAT DUCTING PPV P/N: 957				1	£ 1.90	£ 1.9
_ocat	ion 6 - Additional	Adaptors required for Plot 41						
	Missing adpators from to the 204x60mm due	n 220x90mm to 204x60mm for connection of the iaqbox sting for the rest of the system - one per plto required.						
108	PVC957WH	220X90 INLINE ADAPTOR TO SUIT 204X60 FLAT DUCTING PPV P/N: 957				3	£ 1.90	£ 5.7
							Total	£ 7768.1
					Dag	skina a	nd Transport	£ 543.7

Total Exclusive of VAT £ 8311.92 These terms form part of a contract. You should particularly note the provisions on limiting liability (Condition 15)

INTERPRETATION

In these Conditions the following definitions apply:
"Buyer" means the person or firm whose details are set out in the Order Acknowledgement;
"Conditions" means these terms and conditions and "Condition" shall be construed accordingly; "Contract" means a contract for the sale and purchase of the Goods or Services (or both) or

has the meaning ascribed to it in Condition 8.1 in respect of Goods delivered in the "Delivery UK and Condition 19 (Export Terms) in respect of Goods delivered outside the UK; means the goods (or any part of them) specified in the Order Acknowledgement; means the rules governing the terms of trade published by the International Chamber of Commerce in force at the date when the Contract is made; "Goods"

"Information

means any specifications, instructions, drawings, data sheets, calculations, samples or other information supplied by the Buyer; a Contract where the Goods are to be manufactured or delivered (or both) in "Instalment Contract"

instalments;

"Instalment Order" means the agreed order under an Instalment Contract for the manufacture and/or delivery (or both) of part of the volume of Goods; "Intellectual Property Rights" means all patents, rights to inventions, utility models, copyright and related rights, trademarks, service marks, trade, business and the main names rights and designs,

rights in computer software, topography rights, moral rights, rights in confidential information (including knowhow and trade secrets) and any other intellectual property rights, in each case whether registered or unregistered and including all applications for and renewals or extensions of such rights, and all similar or

equivalent rights or forms of protection in any part of the world; means the hours of 09.00 to 17.30 hours Monday to Friday apart from Bank Holidays and other public holidays; "Normal Working Hours"

means an order from a Buyer for which an Order Acknowledgement has been issued "Order

(and is thus the subject of a Contract);
means the written acknowledgement issued by the Seller accepting the order of the
Buyer subject to these Conditions; "Order Acknowledgement

"Price means the price for the Goods or Services (or both) as identified in the Order Acknowledgement;

means a written quote issued by the Seller in relation to the Goods or Services (or 'Quote both);

"Seller'

means Nuaire, a trading division of Polypipe Limited and a company registered with number 1099323 whose registered office is at Broomhouse Lane, Edlington, Doncaster, DN12 1ES, United Kingdom;

means the design or other services relating to the Goods as specified in the Order Acknowledgement; the description or specification (or both) for the Goods or Services (or both) agreed in writing by the parties; "Services"

means a single delivery per Order or Instalment Order during Normal Working Hours using a Standard Vehicle; "Standard Delivery

"Standard Vehicle

using a Jedinaur Veilice, means an articulated curtain-sided vehicle; and means any day from Monday to Friday (inclusive) except Bank Holidays or other 'Working Days'

public holidays.

- Any order sent to the Seller by the Buyer shall be accepted entirely at the discretion of the Seller, and if so accepted will only be accepted upon these Conditions and by the means of the Seller issuing its Order Acknowledgement. An Order Acknowledgement may be issued subject to the provisions of Condition 5 (Drawing Approval). If the Order Acknowledgement is subject to the approval of any drawing in accordance with Condition 5, the Order Acknowledgement will indicate this
- The Contract (which shall be in writing) constitutes the entire agreement between the parties. The Buyer acknowledges that it has not relied on any statement, promise or representation made or given by (or on behalf of) the Seller which is not set out in the Contract.
- 13
- These Conditions apply to the Contract to the exclusion of any given terms that the Buyer seeks to impose or incorporate, or which may be implied by trade, custom, practice or cause of dealing. If performance of the Contract requires any government licence or permit, then performance of the Seller's obligations in the Contract shall be conditional upon such licence or permit being available and these shall be at the Buver's expense
- Any Quote shall not constitute an offer and is valid for a period of 30 days from its date of issue unless withdrawn before then.

CANCELLATION OF ORDERS AND INSTALMENT ORDERS

- If the Buyer cancels an Order or Instalment Order or fails to take delivery of the Goods that comprise an Order or Instalment Order, it shall indemnify the Seller in full against all costs (including labour and materials) and
- or installment. Order, it shall indemnify the seller in full against all Costs (including labour and materials) and expenses incurred by the Seller in the execution or an Order interval or of an Order or Installment Order. Except in the case of force majeure (where Condition 20 will apply), if the Buyer suspends or delays the manufacture or delivery of any Goods relating to an Order or an Installment Order for longer than 60 days, the Seller may (without prejudice to its other rights) terminate the Contract in accordance with Condition 16.1.2 as being a material breach of the Contract.

DESCRIPTION AND SPECIFICATION OF GOODS

- All samples, drawings, descriptions, specifications and advertising in respect of Goods are issued to give an approximate idea of the Goods only. They shall not form part of the Contract and this is not a sale by sample.
- The Seller reserves the right to change all samples, drawings, descriptions, specifications and advertising of the Goods from time to time.
- The Goods shall be in accordance with the Specification in all material respects. 3.3

DESIGN AND SUITABILITY OF GOODS

- The Goods chosen have been selected by the Seller on the basis of the information supplied by the Buyer. The use of and reference to, drawings, data sheets, specifications, calculations, samples or other information provided to the Seller by the Buyer or any nominated third party, shall not relieve the Buyer of its liabilities with regard to ensuring the accuracy, integrity, suitability and general fitness for purpose of this information and its subsequent use.
- It is the responsibility of the Buyer to seek approval from the appropriate authorities, regulatory bodies, client or authorised client representative for the proposed design concept and ventilation strategy prior to placing their order. The Buyer shall ensure the selected Goods and design are fit for purpose and meet all regulatory, legislative and specified requirements for the proposed application.
- The Buyer shall be deemed to have satisfied itself as to the suitability of the design, performance characteristics and materials to meet local conditions, building requirements or any other factors which may in any way affect the operation of the Goods supplied.

 The Buyer warrants and undertakes that all design information provided by the Buyer is accurate at the time of
- the parties agreeing the Specification. Any alterations or deviations in the Buyer's requirements shall be notified in writing to, and approved by, the Seller prior to purchase or installation (whichever occurs first) and a revised specification shall be issued by the Seller.

 Unless expressly set out in the Contract any condition, warranty, statement or undertaking as to the quality of
- the Goods or their fitness or suitability for any purpose however or whenever expressed or which may be im by statute, custom of the trade or otherwise is hereby excluded, except to the extent such exclusion is preve by law. 45
- Without prejudice to Condition 4.5, no statement or undertaking contained in any national standard, national addition of a European standard, ISO standard, or other standard or technical specification as to the suitability of adultion of a transpen standard, 150 standard, or other standard or technical specification as to the suitability of the Goods for any purpose shall give rise to any legal liability of the Seller, except to the extent such exclusion is prevented by law.
- The Seller accepts no responsibility for the accuracy of Information.

 The Buyer shall indemnify and keep indemnified the Seller (and its employees and agents) fully from and against any and all actions, claims, costs, losses, damages, demands, expenses, proceedings, charges and other liabilities arising, suffered or incurred in respect of:
 - 4.8.1 Any error in or omission from Information
 - Any threats, claims or allegations that any Information or the use thereof infringes any Intellectual Property or other rights of any third party;

 Any threats, claims or allegations that any Information or the use therefore breaches the provisions of 4.8.2
 - 4.8.3 any statute, statutory instrument or regulation or other law of any applicable country or territory; and The use of reliance upon any Information by the Seller including, without limit, any claim made against the Seller by any third party as a result thereof.

- The Seller shall endeavour to issue design drawings to the Buyer to enable the Buyer to approve them as soon as possible. The parties acknowledge that on occasion it may not be reasonably possible for the Seller to issue the design drawings prior to the issue of the Order Acknowledgement. 5.1
- If an Order Acknowledgement is issued before any design drawings are approved by the Buyer its issue will constitute an acceptance of the order from the Buyer once the Buyer approves the Seller's design drawings in writing. In these circumstances the Buyer agrees there is a separate collateral contract with the Seller that imposes an obligation on the Buyer to use its reasonable efforts to approve the relevant design drawings as s wings as soon as reasonably possible (the consideration for which is the issue of the design drawings by the Seller).

- The Price excludes value added tax ("VAT") unless the Order Acknowledgement explicitly provides otherwise
- All amounts payable by the Buyer under the Contract are exclusive of amounts in respect of VAT. Where any taxable supply for VAT purposes is made under the Contract by the Seller to the Buyer, the Buyer shall, on receipt of a valid VAT invoice from the Seller, pay to the Seller such additional amounts in respect of VAT as are chargeable on the supply of the Goods or Services (or both) at the same time as payment is due for the supply of the Goods or Services (or both).
- Save in respect of Goods being exported outside the UK where Condition 19 (Export Terms) applies and unless the parties agree otherwise in writing, the Price includes the cost of Standard Delivery only and any delivery requirements in addition to this shall incur an additional charge.

- TREMS OF PAYMENT

 The Seller shall invoice the Buyer on or after Delivery.

 Save in respect of Goods being exported outside the UK where Condition 19 (Export Terms) applies and subject to Condition 7.6, the Buyer shall pay each invoice within 30 days of the date of invoice.

 The Buyer shall pay each invoice in full and in cleared funds to the bank account nominated in writing by the
- If the Buyer fails to pay any invoice in accordance with the terms of Condition 7.2 the Seller may without prejudice The cupie float by Say 1...

 To its other rights or remedies:

 7.4.1 Terminate the Contract or suspend further deliveries to the Buyer of Goods; and/o.

 - Charge interest on the unpaid amount at the rate specified under the Late Payment of Commercial Debts (Interest) Act 1998.
- If the Buyer fails to take delivery, or fails to give the Seller adequate delivery instructions, the Seller may invoice for the Goods and any re-delivery or storage costs incurred.

 The Seller reserves the right at any time to request payment in advance in cleared funds to be made to the Seller
- 7.6 prior to delivery of the Goods (or part thereof).

- Delivery shall be made by the Seller delivering the Goods to the UK mainland address specified in the Order Acknowledgement (or as the parties agree in writing) and shall be deemed to be effected when the Goods are removed from the delivery vehicle ("Delivery"). The Buyer shall be responsible for offloading the Goods from the delivery vehicle. The Seller shall allow one standard delivery per Order or Instalment Order; phased or multiple deliveries will incur
- 8.2
- The Seller's shall allow one standard cellivery per Orier or instalment Order; phased or multiple delivers will incur additional delivery charges unless otherwise agreed in writing by the Seller. The Seller shall allow one hour standing/unloading time for each delivery vehicle after which standing/unloading time will be charged at the hourly rate applicable per vehicle for each whole hour or part hour thereafter. The Buyer may postpone a delivery by giving 5 Working Days written notice to the Seller. If the Buyer postpones a pre-arranged delivery other than in accordance with Clause 8.4, the Seller shall be 83
- 8.5 nentitled to charge the Buyer for the full costs of the cancelled vehicle and charge an additional fee for the re-delivery of the Goods.

 All deliveries exclude the hire of hoists, cranes, site placement, commissioning and setting to work.
- The Buyer shall at its own cost and in a timely manner, obtain all statutory or regulatory consents, approvals, permits or licences required to facilitate delivery and offloading, including unrestricted site access or street closures and shall arrange relevant safety equipment, banks-men or other personnel as necessary to enable the seller to comply with its obligations of delivering the Goods.
- The Seller shall use reasonable efforts to deliver the Goods by the specified time. Time for delivery is not of the essence. If the Supplier is late for reasons other than due to reasons of force majeure, the Buyer is entitled to liquida damages at the rate of 2% of the price of those Goods which are in delay for each full week of delay or part thereof. subject to a maximum of 20% of the Price of those Goods in delay.
- The signing of a delivery note is deemed to be acceptance of the Goods with regard to the arrival and number of items delivered.
- The Buyer shall be deemed to have accepted the Goods and that the Goods comply with the Contract unless in the The Buyer shall be deemed to have accepted the Goods and that the Goods comply with the Contract unless in the case of a defect in the quality or state of the Goods or the Goods (or would have been had a careful inspection or reasonable test been carried out, the Buyer gives the Seller a notice specifying such defect or non-compliance within 2 Working Days after Delivery and in any event prior to their use, and after doing so gives the Seller a reasonable opportunity to inspect or test the Goods before they are used. Such notification shall not discharge the Buyer's liability for storing and maintaining the Goods until such time as they can be inspected by the Seller.
- 8.11 If the Buyer fails to take delivery of any Goods (except where such failure is caused by force majeure or by the failure of the Seller to comply with its obligations under the Contract in respect of the Goods) or to give the Seller adequate delivery instructions which results in the Goods being returned to the Seller, the Seller may, without prejudice to its other rights or remedies, issue an invoice for any re-delivery charge or issue an invoice for that part of the rights or that part of the rights of the rights or the rights of the right
- to those Goods and store those Goods until the actual delivery date, charge the Buyer reasonable costs for storage, (including insurance and re-delivery) or any of these as appropriate.

 If the Seller is storing any Goods in accordance with Condition 8.11 it may request in writing that the Buyer take delivery of those Goods within 30 days of the date of that request. If after that time the Buyer has not accepted or taken delivery of them the Seller may re-sell or otherwise dispose of all or part of those Goods, and after deducting reasonable storage and selling costs, account to the Buyer for any excess over the Price of the Goods.

 The Buyer may only return Goods to the Seller after Delivery with the prior written agreement of the Seller and any return is at the Seller's sole discretion. All Goods shall be returned at the Buyer's risk and expense and will be subject to inspection and testing. A re-stocking charge based on a percentage of the Price (or part threeof) that relates to the Goods to be returned will be invoiced to the Buyer for any returned Goods accepted by the Seller.

 All packaging is non-fire retardant and recyclable but not returnable unless by prior agreement within mainland UK and returned packaging will be subject to collection charges.
- returned packaging will be subject to collection charges.

OBLIGATIONS OF THE BUYER

- The Buyer shall:
 - Ensure that the terms of any order or specification submitted by it are complete and accurate; 9.1.1

 - Co-operate with the Seller in all matters relating to the Goods or Services (or both); and Provide the Seller, its employees, agents, consultants and sub-contractors with access to any premises of the Buyer, office accommodation and other facilities as are reasonably required by the Seller to undertake the Seller's obligations under the Contract.

- NON-DELIVERY & DAMAGE
 The quantity of any consignment as recorded by the Seller upon despatch shall be conclusive evidence of the quantity received by the Buyer on delivery, unless the Buyer can provide reasonable conclusive evidence to the contrary. If the Seller fails to deliver the Goods, its liability shall be limited to the costs and expenses incurred by the Buyer in obtaining replacement goods of similar description and quality in the cheapest market available, less the Price of the Goods. The Seller shall have no liability for any failure to deliver the Goods to the extent that such failure is caused by a force majeure event (as identified in Condition 20), the failure of the Buyer to provide the Seller with adequate delivery instructions for the Goods or any relevant instructions related to the supply of the Goods.

RISK AND PROPERTY

- RISK AND PROPERTY

 Risk in the Goods shall pass to the Buyer on Delivery.

 Notwithstanding delivery and the passing of risk, property in and title to the Goods shall remain with the Seller until the Seller has received payment of the full Price of (a) all Goods and/or Services that are the subject of the Contract and (b) all other Goods and/or services supplied by the Seller to the Buyer under any other contract.

 Payment of the full Price shall include, without limitation, the amount of any interest or other sum payable under the terms of this and all other contracts between the Seller and the Buyer.

 Subject to Condition 11.4 until title to the Goods has passed to the Buyer, the Buyer shall:
- - Hold the Goods on a fiduciary basis as a bailee on behalf of the Seller;

 Not remove, deface or obscure any identifying mark on or relating to the Goods;

 Maintain the Goods in good condition and keep them insured against all risks for their full Price on behalf of the Seller from the date of Delivery;
 - Store the Goods separately from all other goods held by the Buyer so that they remain readily identifiable as the property of the Seller;

 Notify the Seller immediately if it becomes subject to any of the events listed in Conditions 16.1.4 to 11.3.4
 - 11.3.5 16.1.11 (Termination): and

- 11.3.6 Give the Seller such information relating to the Goods as the Seller may require from time to time
- The Buyer may resell the Goods in the ordinary course of its business and the Buyer shall hold any such part of the proceeds of sale as represents the amount owed by the Buyer to the Seller in trust on behalf of the Seller and the Buyer shall account to the Seller accordingly;
- The before title of the Goods passes to the Buyer, the Buyer becomes subject to any of the events listed in Condition 16.1.4 to 16.1.11 (Termination) or the Seller reasonably believes that any such event is about thappen and notifies the Buyer accordingly, then, provided the Goods have not been resold, or irrevocably incorporated into a structure and become annexed to the land, and without limiting any right or remedy the Seller may have, the Seller may at any time require the Buyer to deliver up the Goods and, if the Buyer fails to do so promptly, enter any premises of the Buyer or of any third party where the Goods are stored in order to recover them. The rights of the Seller under this Condition are without prejudice to any other rights it may have against the Buyer.
- The Buyer acknowledges and agrees that the Seller shall be entitled to recover from the Buyer payment for any Goods notwithstanding that title to them has not passed from the Seller.

SUPPLY OF SERVICES

- SUPPLY OF SERVICES
 The Seller shall provide the Services to the Buyer in accordance with the Specification in all material respects.
 The Seller shall provide the Services using reasonable care and skill;
 The Seller shall have the right to make any changes to the Services which are necessary to comply with any applicable law or safety requirement, or which do not materially affect the nature or quality of the Services and the Seller shall notify the Buyer in any such event.

INTELLECTUAL PROPERTY RIGHTS

- All Intellectual Property Rights in or arising out of or in connection with the Services shall be owned by the Seller. The Buyer acknowledges that, in respect of any third party Intellectual Property Rights in the Services, the use of any such Intellectual Property Rights by the Buyer is conditional on the Seller obtaining a written licence from the relevant licensor on such terms as will entitle the Seller to licence such rights to the Buyer.
- The Seller retains all Intellectual Property Rights in the Goods whether pre-existing or developed specifically for the purposes of the Contract. The Buyer shall be granted a royalty free, non-assignable, non-transferable licence to use the Intellectual Property Rights of the Seller for the purposes of operation or maintenance of the Goods.

OUALITY, TESTING AND WARRANTY

- The Seller shall carry out testing on all Goods in accordance with its manufacturing and quality management processes. If the Buyer requires supplementary tests or witness testing, then the Seller shall be granted an extension of time to any timescales in the Contract to facilitate such tests and shall be entitled to recover any additional costs reasonably incurred.

 Subject always to Condition 14.3 and Condition 14.7, the Seller warrants that, upon Delivery and for a period
- of 12 months or, as otherwise specified in the Order Acknowledgment or other information available from the Seller's web site from time to time, ("the Waranty Period") the Goods shall:

 14.2.1 Conform to the Specification;

 14.2.2 Be within the tolerances allowed by relevant BSI and/or ISO standards; and

 - 14.2.3 Be free from material defects arising from faulty materials and workmanship.
- 143 The Seller shall not be liable for defects
 - Arising from fair wear and tear, wilful damage, negligence, abnormal conditions, failure to follow instructions, lack of maintenance, misuse or unauthorised alteration or repair.
 - Arising from the Buyer's interpretation and application of the Seller's indicative technical data. For further clarification the Buyer should refer to the Seller's document known as "Nuaire Testing Standards and Application Guidance Notes document NA-QS-W040-3" (or other product or technical information available from the Seller's web site) from time to time.
 - 14.3.3 Drawn to the attention of the Buyer before acceptance or which were (or ought to have been) discovered on inspection of the Goods by the Buyer before acceptance of the Goods.

 Subject to Condition 15.2 the Seller's liability for breach of the warranty in Condition 14.2 shall be limited to
- repairing or (at its option) replacing the Goods so that they comply with the terms of the warranty set out in Condition 11.1
- The Seller shall not be liable for a breach of the warranty in Condition 14.2:

 14.5.1 Unless the Buyer gives the Seller written notice of the defect within 2 days of the time when the Buyer discovers, or ought to have discovered it:
 - If the Buyer has breached any of its obligations in the Contract or as set out in the Seller's operating manual, the Seller's document known as the "Warranty Guidance Notes document NA-QS-W040-0" (or other product or technical information available from the Seller's web site) from time to time.
- other product or technical information available from the Seller's web site) from time to time.

 The Seller shall be given the opportunity of examining the Goods and the Buyer shall arrange for unencumbered access to the Goods at his expense to facilitate such inspection.

 The liability of the Seller for defective Goods under the warranty contained in this Condition 14 is limited to, at the sole option of the Seller, repairing or replacing such Goods (or parts thereof) or crediting the account of the Buyer to the invoice value of such Goods (or part thereof) and the Buyer shall accept such of these remedies as the Seller shall offer as being in complete satisfaction of the obligations of the Seller under the warranty.

 Any Goods which are repaired or any replacement Goods issued by 14 for the unsyringd paried of the Warranty of the Wa
- this Condition 14 shall be warranted on the terms of this Condition 14 for the unexpired period of the Warranty

- These Conditions set out the entire liability of the Seller in respect of any negligence or breach of the Contract.
- any use made (or resale) by the Buyer of the Goods, or the provisions of the Services.

 Nothing in these Conditions shall exclude or restrict the liability of the Seller for any matter in respect of which it would be illegal or unlawful for the Seller so to do including:
 - Death or personal injury caused by its negligence, or the negligence of its employees, agents or

 - subcontractors;

 Fraud or fraudulent misrepresentation;

 Breach of the terms implied by Section 2 of the Supply of Goods and Services Act 1982 (Title and quiet 15.2.3
 - Breach of the terms implied by Section 12 of the Sales of Goods Act 1979 (Title and quiet possession);
 - Defective products under Section 2(3) of the Consumer Protection Act 1987
- Subject to condition 15.2 the Seller shall not be liable in respect of any misrepresentation, breach of any implied or express warranty or condition, breach of any term or be otherwise liable in a contract, tort or otherwise for indirect or consequential loss, loss of revenue, loss of profits, loss of business, contracts or goodwill, loss of, damage to or loss of the use of any equipment or process or loss of operational time howsoever caused and of whatsoever nature suffered or incurred by the Buyer or any third party which arises out of or in connection with the provision of any Goods or Services or otherwise under the Contract.

 Subject to condition 15.2 and condition 15.3 the Buyer accepts that the total liability of the Seller arising out
- of or in connection with the Contract shall in any event be limited to damages of an amount not exceeding the
- The Buyer agrees that it is in a better position to foresee and evaluate any loss it may suffer in connection with the Contract and that the terms therefore have been calculated on the basis of the limitations and exclusions in this Condition 15 and the Buyer will effect such insurance as is suitable having regard to its particular circumstances in the terms of the Contract.

 Subject to Condition 15.2 all warranties, conditions and other terms implied by statute or common law (including
- without limitation, as to the quality or fitness for any particular purpose of the Goods) are, to the fullest extension permitted by law, excluded from the Contract.

- A party shall be entitled to terminate the Contract with immediate effect by giving written notice to the other
 - The other party fails to pay any undisputed amount due under this agreement on the due date for payment and remains in default not less than 30 days after being notified in writing to make such payment; or
 - The other party commits a material breach of its obligations under this agreement and (if such breach is remediable) fails to remedy that breach within a period of 30 days after receipt of notice in writing requiring it to do so; or
 - 16.1.3
 - The other party commits a series of persistent minor breaches which when taken together amount to a material breach; or The other party suspends, or threatens to suspend, payment of its debts or is unable to pay its debts as they fall due or admits inability to pay its debts or is deemed unable to pay its debts within the meaning of section 123 of the Insolvency Act 1986; or

- The other party commences negotiations with all or any class of its creditors with a view to rescheduling any of its debts, or makes a proposal for or enters into any compromise or arrangement with its creditors other than for the sole purpose of a scheme for a solvent amalgamation of that other party with one or more other companies or the solvent reconstruction of that other party; or A petition is filed, a notice is given, a resolution is passed, or an order is made, for or in connection with
- the winding up of that other party (other than for the sole purpose of a scheme for a solvent amalgamation of that other party with one or more other companies or the solvent reconstruction of
- that other party); or A creditor or encumbrancer of the other party attaches or takes possession of, or a distress, execution
- sequestration or other such process is levied or enforced on or sued against, the whole or any part of its assets and such attachment or process is not discharged within 14 days; or An application is made to court, or an order is made, for the appointment of an administrator or if a notice of intention to appoint an administrator is given or if an administrator is appointed over the
- other party; or
 A floating charge holder over the assets of that other party has become entitled to appoint or has
 appointed an administrative receiver; or
 A person becomes entitled to appoint a receiver over the assets of the other party or a receiver is 16.1.9
- appointed over the assets of the other party; or Any event occurs, or proceeding is taken, with respect to the other party in any jurisdiction to which it subject that has an effect equivalent or similar to any of the events mentioned in Condition 16.1.4 to Condition 16.1.10 (inclusive); or
- 16.1.12 The other party ceases, or threatens to cease, to carry on all or substantially the whole of its business;
- 16.1.13 There is a change of control of the other party (within the meaning of section 840 of the Income and Corporation Taxes Act 1988); or
- 16.1.14 Any event of force majeure prevents the other party from performing its obligations under this agreement for any continuous period of three months.

 Termination of the contract shall not prejudice any of the parties' rights and remedies which have accrued as at
- termination.

- On termination of the Contract each party shall promptly:
- 17.1.1 Return to the other party all equipment, materials and property belonging to the other party that the other party had supplied to it in connection with the supply and purchase of the Goods or Services;
 17.1.2 Return to the other party all documents and materials (and any copies) containing the other party's Confidential Information
- 17.1.3 Erase all the other party's Confidential Information from its computer systems (to the extent possible);
- 17.1.4 On request, certify in writing to the other party that it has complied with the requirements of this

SURVIVAL OF OBLIGATIONS

- On termination of the Contract this Condition and the following Conditions shall survive and continue in full force and effect:
 - 18 1 1 Condition 7
 - 18.1.2 Condition 7 18.1.2 Condition 8.7 18.1.3 Condition 9
 - 18.1.4 Condition 11
 - 18 1 5 Condition 13

 - 18.1.6 Condition 14 18.1.7 Condition 15
 - 18.1.8 Condition 17
 - 18.1.9 Condition 20
 - 18.1.10 Condition 21; and 18.1.11 Condition 22.

EXPORT TERMS

- If Goods are to be delivered by the Seller outside the United Kingdom the provisions of this Condition 19 shall apply and the transport of Goods outside the United Kingdom will (subject to condition 19.4) be governed by the
- apply and the transport of Goods outside the United Kingdom will (subject to condition 19.4) be governed by the relevant Incoterms agreed by the parties.

 Unless otherwise agreed between the parties, the Price shall be secured by an irrevocable letter of credit satisfactory to the Seller, established by the Buyer in favour of the Seller immediately upon receipt of the Order Acknowledgement by the Buyer or within the number of days agreed in writing by the parties from the date of the Order Acknowledgement, and confirmed by a bank acceptable to the Seller. The letter of credit shall be for the Price or value of the relevant Order or Instalment Order (together with any tax or duty payable) payable to the Seller and shall be valid for three months. The Seller shall be entitled to payment within the tir agreed between the parties in writing on presentation of the relevant Contract documentation to the Seller's
- Unless otherwise agreed between the parties, the Buyer shall be responsible for complying with any legislation or regulations governing the importation of the Goods into the country of destination and for the payment of any
- duties thereon or licences in connection therewith.

 Notwithstanding the terms of condition 19.1 the Seller shall be under no obligation to give notice under section 32(3) of the Sale of Goods Act 1979.

FORCE MAIEURE

Neither party shall be liable to the other for any failure to perform its obligations under the Contract where the failure is due to circumstances beyond the reasonable control of the affected party, including, without limitation, lock-outs, strikes or labour disputes (whether or not relating to either party's workforce), adverse weather conditions including snow or flood, acts of God, governmental actions, war or national emergency, acts of terrorism, protests, riot, civil commotion, fire, explosion, epidemic, civil war, insurrection, restraints or delays affecting carriers or inability or delay in obtaining supplies of adequate or suitable materials. If the delaying event continues uninterrupted for 90 days, either party may give notice in writing to terminate the Contract. In the event of termination in accordance with this Condition 20, the Supplier shall be entitled to be paid all costs incurred prior to the date of termination.

GENERAL

- The Contract may only be varied in writing with the prior written agreement of a Director of the Seller. The Contract shall be governed by and interpreted in accordance with English law and the Seller and the Buyer both submit to the jurisdiction of courts of England and Wales.
- The Buyer shall not assign any of its rights without the Seller's prior written consent.

 Nothing in this Agreement shall create any rights for third parties under the Contracts (Rights of Third Parties)
- Notices shall be in writing and addressed to a party at its registered office or principal place of business or such
- other notified address A failure by the Seller to act on a breach of the Contract by the Buyer shall not constitute a waiver of that breach
- or any other breach.
- If a Condition is held by a competent authority to be invalid or unenforceable in whole or in part but would be valid and enforceable if part of it were deleted, that Condition shall be deemed to apply with such modification as may be necessary to make it valid and enforceable, and any such modification shall not affect the validity of any other Condition and/or the Contract.

CONFIDENTIALITY

The parties shall treat as strictly confidential and not disclose to any third party (except as expressly agreed between them or as required by law or on a strictly confidential basis to their respective legal and insurance advisors and auditors) any information exchanged between them, if and to the extent that it is stated or know by them to be confidential, and shall use such information only for the purposes of the provision of Goods and services and each party shall ensure that its employees understand and abide by the confidentiality obligations under this agreemen